@émqmmwmm
K
Go(s) ==

SR T A REFE R -

() RGN TR, PRl K = 1805715

(2) By YISIE we > 3.5 rad/s;

(3) HIFHAEE v = 40°, e T I GR B E)



Bl 3.10: S BT SRR GERI AN AT AL o Ay A ik R RO

K
Gols) = SO LT D02+ 1)
Hr BORALIE JG RS0 2
(1) HEFRERIK, = 30;
(2) MM EE ¥ > 40°

(3) HYAGHAE 201g K, > 10dB;
() BUII#E w. > Srad/s
BRI IE S



R(S) Kl KQ l
0.05s + 1 0.252 4+0.4s+1 s
Ts+ 1

Bl 4.7: =6 ARG E 4165778, HOR MR R BORSE REMMERE, BRI RGN E
SRR 51,2 = -3+ V3, TEWE K1, Ko Fl v fH.



Bl 6.4: FFUNT LR IERE

1
D(s)= ————
(s) s2+0.2s+1

RSN T = 1sec WIHE T, @AM BRI B HALE K.

Bl 6.9: BLEHIANA 6.10.1 FrR B MLt B R R BHEX R BB R 57 12 18 & 0 51K

10 1-eTs
Go(s) = G Hy(s) = .

REEFT = 1s, WBOHEEFIMAR r(1) = t HRRDHEERS.

E(z)

r(1) e(r) X 1-¢ " .
D(z) A — Go(s) Y(2)
R(z) ®_ T 4 ’




Bl 8.19: HELMERRL

11 1 0 1
=10 1 olx+[1 olu« y=[1 0 1]x
11 1 0 1

XA R GEREAT RS 0

3. WINT R X0 M1 Do HEE, ANPES.T FiR. Ti Ml o RUFRGEHIFE . S AKE FER 2 1A -

21: A1 =-2B1=1C1 =1

0 1|, _
_3 _4,2_

0

> I l,c2=[2 1]

(1) SREBIR GRS 2 [E)A s (S 43)
(2) Hikr X1 A Bo SRS HPARSRELEEMBEML S (5 43)
(3) SRR JFHIfL R %L (5 41)



L RGNS W) B8N

[RE

MRAE
b

B AN LRSI 8% A RS BB W R S0, (IS sl -3, MRS LN
=5+j5, SORE MMM TR RS S HI 2 2k, I m L& PR RS RGE45 4 P«




8. RARL R G NE10.49F 7~ » K :
(1) PEAS HE IR HR 5 ) SR8 et A 5

(2) FI i oA BRI R GEH) FHRFABIIR o FIIRIR A

g N =2K arcsin%+%,/1—(%)2],f\>a
Ny =22 1-(2)2,4>A

T
(9]

(=0 e(t)

10
s(s+l):

C(t)

 10.49



